This week we are recapping on 2D and 3D shapes.

LO: To identify the properties of 3D shapes and their nets (bronze)

Ta. Ban and Chlce hove mode nets of a
square-based pyramid. Check which nefs
would work and explain any mistakes
which have been maode.

Ben’s wouldn’t work because...
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2o Lily has not been able to fimish this net
of a cube. Complefe the net for hwer.
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3o Karl is feiskinghbout 3D shapes.

/I will always need
a square to
make a cuboid.

Is he comect? Explain your answer.

N Karl is wrong because...

Tiek thi nits thirt wil meka 2 b
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4 | waztch the met o tha oormed lobal
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5 | Ron is drewing the nat of this cube.
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a) Hera b part of hk nat. _ T e '!‘511.
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Answers may vary
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7 | complete the sentances,

a) The foces ofa _| €YP€ |  ora all square.

b} A square-based pyramid has

4 |triangular foces and | 1

squars foce,

cylinder

&) Thenetofa
a rectangle.

Is made up of 2 circles and



This week we are recapping on 2D and 3D shapes.

LO: To identify the properties of 3D shapes and their nets (silver)

1 lan, Kabya and Tem hove mode nets
of a cylinder. Check which mets would
work and explain amy mistakes which
howe been mode.

(O ton Katya
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A Tom| Kayla’s would work

2 Doug has ol been able o finish this
net of a truncaoted manguwlar-based
pyramid. Complefe the met for him.

A
e
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The net of a cuboid is
made up of 4 rectangles
and 2 squares.

The net of a cuboid is
made up of & rectangles.

I Roshe

Who do you agree with? Circle your aonswer.

Whitnay Rosle both of them

Explain your regsons.

A cuboid can have 2 squares or not

Draw the net for a trlangular prism on the squared grid.

3 |Leia is thinking about 3D shapes.

| will always need

A ( a sector of a
. : circle o make a
» = <

circular-based
cone.

Iishe comect? Explain your answes.

o
T
| E=)

Leia is right because...

Miabch eoch netio s 20 shapa

Answers will vary

7 | Hare ls tha rart of 0 cubs.
Thi nit k& misdk Inko i cubs.
\Whikchi 1w comers will maet iha comer markad with .7
Rhark them wiih @ cres.




This week we are recapping on 2D and 3D shapes.

LO: To identify the properties of 3D shapes and their nets (gold)

1 Flo, Anna and 5w haove mode nets of
a cube with a truncaoted square-bosed

Draw on accurate net for this cubold on the squared grd.
1cm

pyramid on top. Check which nels would
work and explain any mistokes which
haoree 2T T =

~ | Stu’swouldwork |
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2 |Iicki haas only droem the base for a
net of this 30 shope. Complate fhe net for
heer.
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Answers will vary

5 om 3m

5§ | @ Conplkis 2 drowing of iha net for the tairchedon

3 [Rohit is thinking about 3D shapes.

~

/I will always nesed
eight isosceles
friangles to make
an octahedromn.

15 he comect? Explain your answer.

| Rohit is wrong because...
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Tick the diagram that Is the net of a cone.

>

bl Crow tha nat of this hemgonal pgronid
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7 | Which of thes shapes k tha nat of o prism? Tick your mar.
Talk obout yaur resoning with o perinr.
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